
 

 

1. If   𝑨 = [
𝟓 −𝟔 

, prove   that   𝑶𝑨 = 𝑨𝑶, 
𝟕 𝟐 

]
 

where 𝑶 is a null matrix. 

2. Solve the simultaneously equation. 

𝟑𝒙 = 𝟓 − 𝟒𝒚 
𝟓𝒚 = 𝟖 − 𝟐𝒙 

3. A rod is folded in such a way that it makes an angle of 𝟒𝟓𝟎. In order to make it straight what will be 

the measure of the 
angle? 

4. With reference of figure state the kinds of the following pairs of angles: 

(i) < 1, < 3 
(ii)   < 3, < 4 
(iii) < 3, < 7 
(iv) < 4, < 6 
(v) < 1, < 7. 

5. In the adjoining figure are shown a quadrilateral 𝑨𝑩𝑪𝑫   and four triangles 

𝑷𝑨𝑩, 𝑷𝑩𝑪, 𝑷𝑪𝑫, 𝑷𝑫𝑨. Which pair of triangles appears to be congruent? Also name the relevant 

corresponding in which 
a pair is congruent. 

6. Prove that a diagonal of a rectangle divides it into two congruent triangles. 

7. Elements of which of the following sets can represent the lengths of the sides of the right-angled 

triangles? 

𝑨 = {𝟓, 𝟔, 𝟕}, 𝑩 = {𝟐. 𝟓, 𝟔, 𝟔. 𝟓} 
  

𝑪 = {𝟏, 𝟏𝟎, 𝟑√𝟏𝟏}, 𝑫 = {𝟏, 𝟏, √𝟐} 

8. The radius of a circle is 𝟓cm. A chord is at a distance of 𝟒cm from the centre. Find the length of the 

chord. 

9. Find the area of a 𝟏𝟐𝟎𝟎 sector and the length of the corresponding arc of a circle of radius 𝟗m. 

 

 

 

 

 

 

 

 

 



 

 

10. Annual income of a person from salary is 𝟑𝟗𝟏𝟒𝟓 rupees and the annual income from 

other sources is 𝟔𝟒𝟓𝟓 rupees. Find his income tax for the year when he has paid Rs.𝟑𝟎𝟎 
to Zakat fund and Rs.𝟐𝟎𝟎 to wealth tax. 

11. A factory owner fixed the following rated of commission: 15% commission on 

goods, the worth of which is upto 15,000 rupees; 20% on goods, the worth of which 

is more than 15,000 rupees. An agent bought goods 
Rs.26,500. Find his commission. 

12. Evaluate – 𝟑𝑷 + 𝟐𝑸 − 𝑹, when 

𝑷 = −𝟑𝒙𝟑 + 𝟒𝒙𝟐 − 𝟏 
𝑸 = −𝟕𝒙 + 𝟐𝒙𝟑 − 𝟖 
𝑹 = 𝒙𝟑 − 𝒙𝟐 + 𝒙 − 𝟏 

13. Simplify: 

(𝟏𝟔𝒚𝟖𝒛𝟓 − 𝟒𝟖𝒚𝟕𝒛𝟔 − 𝟏𝟒𝟏𝒚𝟑𝒛𝟒) ÷ (𝟖𝒚𝟐𝒛𝟒) 

14. Find the value of 𝒙𝟒 + 
𝟏 

, when𝒙 − 
𝟏 

= 𝟏. 
𝒙𝟒 𝒙 

15. Evaluate with the help of a formula: 

(𝟑. 𝟔𝟓)𝟐 + 𝟐 × 𝟑. 𝟔𝟓 × 𝟐. 𝟑𝟓 + (𝟐. 𝟑𝟓)𝟐 

16. Find the value of 𝒙𝟑 + 𝒚𝟑 when 𝒙 + 𝒚 = 𝟓 
and 𝒙𝒚 = 𝟔. 

17. Express in the form of a cube (orally). 

(i) 𝒙𝟑 + 𝟑𝒙𝟐, 𝟒𝒚 + 𝟑, 𝒙. (𝟒𝒚)𝟐 + (𝟒𝒚)𝟑. 

18. Simplify with the help of formulae (orally) 

(i) (𝒄 + 𝒅)(𝒄𝟐 − 𝒄𝒅 + 𝒅𝟐) 

(ii)   (𝒙 − 𝒚)(𝒙𝟐 + 𝒙𝒚 + 𝒚𝟐) 

19. Evaluate with the help of a formula 

(𝟒𝟏𝟔)𝟑 + (𝟖𝟒)𝟑 
 

(𝟒𝟏𝟔)𝟐 − 𝟒𝟏𝟔 × 𝟖𝟒 + (𝟖𝟒)𝟐 
 


